> with(crank);
[ M, crankgen, crankgenb, cranknum, crankresgen, crankresgenb, crankresnum, crankresnumb,
cranktablemake

> nodp(1/ 24, 5*7*11) ;

> seq(Mr,5,369),r=0..4);
191745739582467609, 191745739582467609, 191745739582467609, 191745739582467609,
191745739582467609

> seq(Mr, 7,369),r=0..3);

369

| 136961242558905435, 136961242558905435, 136961242558905435, 136961242558905435

> seq(Mr, 11, 369),r=0..5);
87157154355667095, 87157154355667095, 87157154355667095, 87157154355667095,
87157154355667095, 87157154355667095
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